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CONSTRUCTIONS

Exercise 9 A

1. Draw a line segment  of length .

Using ruler and compasses, find a point  on 

AB 7cm

P

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_EFdgZE9SMTML


 such that .

Watch Video Solution

AB =
AP

AB

3

5

2.  Draw a line segment of length  and

divide it internally in the ratio . 


 Draw a line segment of length  and

divide it in the ratio . Measure the two

parts.

Watch Video Solution

(i) 8cm

4: 5

(ii) 7.6cm

5: 8

https://dl.doubtnut.com/l/_EFdgZE9SMTML
https://dl.doubtnut.com/l/_n5UPVunBm0xW


3. Construct a , in which , 

and . Then, construct

another triangle whose sides are  times the

corresponding sides of .

Watch Video Solution

ΔPQR PQ = 6cm

QR = 7cm PR = 8cm

4

5

ΔPQR

4. Construct a triangle with sides 5 cm, 6 cm

and 7 cm and then another triangle whose

sides are  of the corresponding sides of the

first triangle.

7

5

https://dl.doubtnut.com/l/_tegHv6sXTVFL
https://dl.doubtnut.com/l/_fc00CnJZSUHm


Watch Video Solution

5. Construct a  with , 

 and . Construct

another triangle whose sides are  times the

corresponding sides of .

Watch Video Solution

ΔABC BC = 6cm

∠B = 60∘ AB = 5cm

3

4

ΔABC

6. Construct a  in which , 

 and . Construct another

ΔABC AB = 6cm

∠A = 30∘ ∠B = 60∘

https://dl.doubtnut.com/l/_fc00CnJZSUHm
https://dl.doubtnut.com/l/_VJbdZ6u7LZug
https://dl.doubtnut.com/l/_ZQbbJDSkdcT1


 similar to  with base 

.

Watch Video Solution

ΔAB' C' ΔABC

AB' = 8cm

7. Construct a  in which , 

 and . Construct another

similar to  such that its sides are  of

the corresponding sides of .

Watch Video Solution

ΔABC BC = 8cm

∠B = 45∘ ∠C = 60∘

ΔABC
3

5

ΔABC

https://dl.doubtnut.com/l/_ZQbbJDSkdcT1
https://dl.doubtnut.com/l/_JXysRr7UDhkl


8. To construct a triangle similar to  in

which ,  and 

, using a scale factor of ,  will

be divided in the ratio

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

ΔABC

BC = 4.5cm ∠B = 45∘

∠C = 60∘ 3

7
BC

3: 4

4: 7

3: 10

3: 7

https://dl.doubtnut.com/l/_eE5mz8zL6QuF


Watch Video Solution

9. Construct an isosceles triangle whose base

is 8 cm and altitude 4 cm and then another

triangle whose sides are  times the

corresponding sides of the isosceles triangle.

Watch Video Solution

1
1

2

10. Draw a right triangle in which the sides

(other than hypotenuse) are of lengths 4 cm

and 3 cm. Then construct another triangle

https://dl.doubtnut.com/l/_eE5mz8zL6QuF
https://dl.doubtnut.com/l/_C5hwY0jloZaW
https://dl.doubtnut.com/l/_y8To4iJkFHDm


Exercise 9 B

whose sides are  times the corresponding

sides of the given triangle.

Watch Video Solution

5

3

1. Draw a circle of radius . From a point , 

 away from the centre of the circle, draw

two tangents to the circle.Also, measure the

lengths of the tangents.

Watch Video Solution

3cm P

7cm

https://dl.doubtnut.com/l/_y8To4iJkFHDm
https://dl.doubtnut.com/l/_ubjlazaBxeaE


2. Draw two tangents to a circle of radius

 from a point  at a distance of 

from its centre.

Watch Video Solution

3.5cm P 6.2cm

3. Draw a circle of radius 3 cm. Take two points

P and Q on one of its extended diameter each

at a distance of 7 cm from its centre. Draw

tangents to the circle from these two points P

and Q.

https://dl.doubtnut.com/l/_ubjlazaBxeaE
https://dl.doubtnut.com/l/_Ll6cYj9a3QPo
https://dl.doubtnut.com/l/_YCSPuNDydSst


Watch Video Solution

4. Draw a circle with centre  and radius .

Draw any diameter  of this circle. Construct

tangents to the circle at each of the two end

points of the diameter .

Watch Video Solution

O 4cm

AB

AB

5. Draw a circle with the help of a bangle. Take

a point outside the circle. Construct the pair

https://dl.doubtnut.com/l/_YCSPuNDydSst
https://dl.doubtnut.com/l/_S9bswcA4rB0c
https://dl.doubtnut.com/l/_1ByZE5Ojq96s


of tangents from this point to the circle.

Watch Video Solution

6. Draw a line segment AB of length 8 cm.

Taking A as centre, draw a circle of radius 4 cm

and taking B as centre, draw another circle of

radius 3 cm. Construct tangents to each circle

from the centre of the other circle.

Watch Video Solution

https://dl.doubtnut.com/l/_1ByZE5Ojq96s
https://dl.doubtnut.com/l/_DQYWkAhe9QCo


7. Draw a circle of radius . Draw of pair of

tangents to this circle inclined to each other

at an angle of .

Watch Video Solution

4.2cm

45∘

8. Write the steps of construction for drawing

a pair of tangents to a circle of radius ,

which are inclined to each other at an angle of

.

Watch Video Solution

3cm

60∘

https://dl.doubtnut.com/l/_0wKLg5UkePHa
https://dl.doubtnut.com/l/_QzsKvWHlskvV


9. Draw a circle of radius . Draw a tangent

to the circle making an angle of  with a

line passing through the centre.

Watch Video Solution

3cm

30∘

10. Construct a tangent to a circle of radius 4

cm from a point on the concentric circle of

radius 6 cm and measure its length. Also verify

the measurement by actual calculation

Watch Video Solution

https://dl.doubtnut.com/l/_QzsKvWHlskvV
https://dl.doubtnut.com/l/_Ove8x8NT3GMC
https://dl.doubtnut.com/l/_BgP5IBHK2url


11. Draw two concentric circles of radii 

and . Taking a point on the outer circle,

construct the pair of tangents to the inner

circle.

Watch Video Solution

3cm

5cm

12. To construct the tangents to a circle from a

point outside it.

Watch Video Solution

https://dl.doubtnut.com/l/_BgP5IBHK2url
https://dl.doubtnut.com/l/_z1gPwKLPOBK8
https://dl.doubtnut.com/l/_jMK8faaNqz05


Test Yourself

1. Draw a line segment  of length .

Divide it into six equal parts. Write the steps

of construction.

Watch Video Solution

AB 5.4cm

2. Draw a line segment  of length 

and divide it in the ratio . Measure each of

the two parts.

AB 6.5cm

4: 7

https://dl.doubtnut.com/l/_jMK8faaNqz05
https://dl.doubtnut.com/l/_VFLajrhCMVUM
https://dl.doubtnut.com/l/_NPmEfUsYZfqW


Watch Video Solution

3. Construct a  in which , 

 and . Construct a

triangle similar to this triangle whose sides

are  of the corresponding sides of .

Watch Video Solution

ΔABC BC = 6.5cm

AB = 4.5cm ∠ABC = 60∘

3

4
ΔABC

4. Construct a  in which , 

 and altitude from  equal to .

ΔABC BC = 5cm

∠C = 60∘ A 3cm

https://dl.doubtnut.com/l/_NPmEfUsYZfqW
https://dl.doubtnut.com/l/_diB0g6XBlD4W
https://dl.doubtnut.com/l/_Qd6ZTKMadNns


Construct a  similar to  such

that each side of  is  times the

corresponding sides of . Write the

steps of construction.

Watch Video Solution

ΔADE ΔABC

ΔADE
3

2

ΔABC

5. Construct an isosceles triangle whose base

is  and altiude . Construct another

triangle whose sides are  of the

corresponding sides of the first isosceles

triangle.

9cm 5cm

3

4

https://dl.doubtnut.com/l/_Qd6ZTKMadNns
https://dl.doubtnut.com/l/_4r7u6Tf87AJP


Watch Video Solution

6. Draw a , right-angled at  such that 

 and . Now, construct a

triangle similar to , each of whose

sides is  times the corresponding sides of 

.

Watch Video Solution

ΔABC B

AB = 3cm BC = 4cm

ΔABC

7

5

ΔABC

7. Draw a circle of radius . Take a point 

on it. Without using the centre of the circle,

4.8cm P

https://dl.doubtnut.com/l/_4r7u6Tf87AJP
https://dl.doubtnut.com/l/_LrGoBpQNWRDH
https://dl.doubtnut.com/l/_H4NE0Gzh6yh3


construct a tangent at the point . Write the

steps of construction.

Watch Video Solution

P

8. Draw a circle of radius . Draw a pair of

tangents to this circle which are inclined to

each other at an angle . Write the steps of

construction.

Watch Video Solution

3.5cm

60∘

https://dl.doubtnut.com/l/_H4NE0Gzh6yh3
https://dl.doubtnut.com/l/_GxSuzRXSMaUa


9. Draw a circle of radius . Draw tangent to

the circle making an angle of  with a line

passing through the centre.

Watch Video Solution

4cm

60∘

10. Draw two concentric circles of radii 

and . Construct a tangent to the smaller

circle from a point on the larger circle.

Measure the length of this tangent.

Watch Video Solution

4cm

6cm

https://dl.doubtnut.com/l/_oo1d1J251wAJ
https://dl.doubtnut.com/l/_VdOgXJF67v27


https://dl.doubtnut.com/l/_VdOgXJF67v27

